| Efficiency vs Dxy |
.05
S S N N T N T T
]

] e e o
o S R N T T
e R N 0 S A
© Foo : : : : : : : :
0.03F ittt
0.025f i + e e

4 0 1 1

T 1 e [N | A S S
T 1
0,005kt Pl
OJ..\_QEIIII:IIII:IIII:IIII:I ! I!IIII:IIII:IIII:Illl
T F
O  Lfpeeereeeeeieeeeeeeeees B ERRCEESRRER RRREE SURS
0.95- e iobe b o111 U S
L 4!

0.9 E=56-15-10 =5

0 5 10 15 20 25
TP dxy (cm)

—=— DQM_V0001_R000000001__Global__CMSSW._orig

| Efficiency vs Dz |

—s— DQM_V0001_R000000001__Global__mkFitALLCHA__RECO

N 0.1
© : : : : :
%.09— """"" Froeeeeeee e e ] R A
o) ? ? ? ? ?
OB
o : : : : :
.07 P Trore Frovremeees e B I I
o : : : : :
0,06 fr o
SO 11 A W 13 Y
BP0 1 11 1]
0.03

I et LT

0.02
0.01
o+

Rati

l -

0.95

TT T T T T T T T T T T T T T[T T T T LTTT]

10 20 30
TP dz (cm)

2
w@

o

| -
o ;
|

=

o



	Contents
	Page 1


